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B £ K £ ar = # ¥t | Total(Out/In) | Total(Out/In)
1 FRHE mz O[T Al E — 2 142 | 70 (36/34) | 72 (36/36)
2 wAR BA Qlw £ h2| 151 | 75 (42/33) | 76 (38/38)
3 FE % Q% & ES) — h2E| 154 | 76 (38/38) | 78 (36/42)
4 kE#E B X Q|zx Al i 4 b2 155 | 77 (39/38) | 78 (39/39)
EBINl XRQ| &% BF K B B N hzp| 155 | 74 (39/35) | 81 (38/43)
6 TZFH BHE Ol W o B mohz| 156 | 76 (37/39) | 80 (38/42)
7 & LK QI Al th & b2 157 | 81 (40/41) | 76 (39/37)
INER EBOQIF il W’ theg| 157 | 78 (40/38) | 79 (41/38)
9 A FH O|F = hEE| 160 | 77 (41/36) | 83 (44/39)
BE# K— O % 2| 160 | 77 (34/43) | 83 (41/42)
1 o & O] B! Jil k3 S cheg| 162 | 77 (40/37) | 85 (42/43)
12 EE E& Q|#H J 78 thE| 164 | 82 (40/42) | 82 (40/42)
13 B EKX Q% & ES =2 165 | 80 (42/38) | 85 (45/40)
14 w T #3 QI Al th &bz 167 | 80 (40/40) | 87 (47/40)
15 HEHRH ORME Ot Al B heE| 168 | 81 (37/44) | 87 (44/43)
16 EH i@ O|I Al N B 2| 170 | 84 (41/43) | 86 (39/47)
17 i S Y @|H & dt cheg| 172 | 81 (42/39) | 91 (44/47)
18 FE OB @O|x & £ B #0173 | 86 (44/42) | 87 (44/43)
gl XK Q|z LB b2 173 | 83 (41/42) | 90 (46/44)
20 BH BAEQIA & b2 174 | 82 (43/39) | 92 (48/44)
21 ] OIS it | heg| 178 | 89 (44/45) | 89 (43/46)
22 ® F = DM % b= 180 | 91 (47/44) | 89 (43/46)
23 BrE BEE OF il 78 heg| 182 | 93 (42/51) | 89 (43/46)
24 1\ - D= )] F theg| 188 | 91 (48/43) | 97 (49/48)
B B =ik Q4 L 5 £ hf| 188 | 90 (44/46) | 98 (47/51)
26 b B K @B %5 ch2g| 200 | 95 (45/50) |105 (50/55)
27 EFt+ R B#HOIE =] F thE| 216 [102 (47/55) (114 (60/54)
28 B = # Q@|% B KM B 4 18 22| 222 {112 (52/60) [110 (54/56)
£iE TR X I3 Q= B o 95 (43/52)
£iE AM Z2tH Ol =] R 97 (49/48)
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